
SAP ABAP table FPLTVB {Reference Structure for XFPLT/YFPLT}

FPLTVB

MANDT [CLNT (3)]

FPTTP [CHAR (2)]

TETXT [CHAR (4)]

WAERS [CUKY (5)]

FAKSP [CHAR (2)]

FKARV [CHAR (4)]

PERIO [CHAR (2)]

MLBEZ [CHAR (5)]

ZTERM [CHAR (4)]

KUNRG [CHAR (10)]

FAKCA [CHAR (2)]

UELNR [CHAR (10)]

UELTR [NUMC (6)]

CCACT [CHAR (10)]

CCINS [CHAR (4)]

CCNUM [CHAR (25)]

CCWAE [CUKY (5)]

MERCH [CHAR (15)]

LOCID [CHAR (10)]

CCTYP [CHAR (2)]

UELTR_A [NUMC (6)]

RCAVR [CHAR (4)]

RCAVA [CHAR (4)]

RCAVZ [CHAR (4)]

RCRSP [CHAR (4)]

RCCVV [CHAR (4)]

FPLA

MANDT [CLNT (3)]

FPLNR [CHAR (10)]

 FPLTVB-UELNR = FPLA-FPLNR 
0..N

1

FPLT

MANDT [CLNT (3)]

FPLNR [CHAR (10)]

FPLTR [NUMC (6)]

 FPLTVB-UELTR = FPLT-FPLTR 

0..N

1

 FPLTVB-UELTR_A = FPLT-FPLTR {0,1}

1

KNA1

MANDT [CLNT (3)]

KUNNR [CHAR (10)]

 FPLTVB-KUNRG = KNA1-KUNNR 
0..N

{0,1}

SKA1

MANDT [CLNT (3)]

KTOPL [CHAR (4)]

SAKNR [CHAR (10)]

 FPLTVB-CCACT = SKA1-SAKNR 
0..N

1

T000

MANDT [CLNT (3)]

 FPLTVB-MANDT = T000-MANDT 
0..N

1

T433

MANDT [CLNT (3)]

MLSTN [CHAR (5)]

 FPLTVB-MLBEZ = T433-MLSTN 
0..N

{0,1}

TCCL

MANDT [CLNT (3)]

LOCID [CHAR (10)]

 FPLTVB-LOCID = TCCL-LOCID 
0..N

{0,1} TCCM

MANDT [CLNT (3)]

MERCH [CHAR (15)]

 FPLTVB-MERCH = TCCM-MERCH 

0..N

0..N

TCCRC

MANDT [CLNT (3)]

RCATG [CHAR (1)]

RCODE [CHAR (4)]

 FPLTVB-RCAVA = TCCRC-RCODE 

0..N1  FPLTVB-RCAVR = TCCRC-RCODE 

0..N1
 FPLTVB-RCAVZ = TCCRC-RCODE 

0..N
1

 FPLTVB-RCCVV = TCCRC-RCODE 
0..N0..N

 FPLTVB-RCRSP = TCCRC-RCODE 0..N1

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 FPLTVB-CCWAE = TCURC-WAERS 

0..N

0..N

 FPLTVB-WAERS = TCURC-WAERS 
0..N

{0,1}

TFACD

IDENT [CHAR (2)]

 FPLTVB-FAKCA = TFACD-IDENT 

0..N

0..N

TFPLT

MANDT [CLNT (3)]

FPART [CHAR (2)]

FPTTP [CHAR (2)]

 FPLTVB-FPTTP = TFPLT-FPTTP 

0..N

1

TVCIN

MANDT [CLNT (3)]

CCINS [CHAR (4)]

 FPLTVB-CCINS = TVCIN-CCINS 

0..N

0..N

TVCTY

MANDT [CLNT (3)]

CCTYP [CHAR (2)]

 FPLTVB-CCTYP = TVCTY-CCTYP 

0..N

1

TVFK

MANDT [CLNT (3)]

FKART [CHAR (4)]

 FPLTVB-FKARV = TVFK-FKART 

0..N

{0,1}

TVFS

MANDT [CLNT (3)]

FAKSP [CHAR (2)]

 FPLTVB-FAKSP = TVFS-FAKSP 

0..N

{0,1}

TVRG

MANDT [CLNT (3)]

REGEL [CHAR (2)]

 FPLTVB-PERIO = TVRG-REGEL 

0..N

{0,1}

TVTB

MANDT [CLNT (3)]

TETBE [CHAR (4)]

 FPLTVB-TETXT = TVTB-TETBE 

0..N

1


